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t will be given to partial ans
) question is worth 20 points.

arry out the algebraic calculations.
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Vents such that P(A) = 1/4 and P(B) = 1/8.

is tho pra.blhty a 3 was recorded rded exactly 5 times?.
R(A)= 4./ P(e)= Yz
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A person flips a biased coin which gives a head with probability p. Find the probability of
&W on the seventh flip;

containg.2n.red and 2n blue toys. We select uniformly at random 2n toys from the box.
the probability that we selected equally many red and blue toys.
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ur sided/die twice. Define the following events

ht. 4. 3 \
A = { The sum of the rolls is even } o iy e y
B = { The sum of the rolls is less than 5} Y\Q\.Wﬁ- g >
C = { The rolls give the same number}
re A and B independent events? ) «
B and C' independent events? ( 7/’) 4’2‘: \6
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8 alth study tracked a group of persons for five years. At the beginning of the study, 20 percent
assified as heavy smokers, 30 percent as light smokers, and 50 percent as nonsmokers. Results
tudy showed that light smokers were ftwice as likely as nonsmokers to die during the five-year

but only half as likely as heavy smokers. A randomly selected participant from the study
1 over the five-year period. Calculate the probability that the participant was a heavy smoker.
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-apartment door behind you, you relize you might have left your keys inside
- Based on past experience, you figure with probability .8, your keys are

‘ment and with probability .2 they are in either youig_ggg_g_r_lgﬁmgm with each
7. You reach into yuur right pocket, but alas, no keys. What is the probability

ﬁ‘& p(ruf:—)’l o.a ((ff’w}\v\-)"- = ) 7
. s c'\\ /

’ no \M-n, - ?fa‘a T \efr (,ou.._,,da

?(L;:F-i- A n g E ...

() Ce~ w:.«,w-)




